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BINOMIAL THEOREM
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The coefficients ”C  occuring in the binomial theorem
are known as binomial coefficients.
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PROPERTIES
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() Thereare (n+1) terms in the expansion of (a +b)" 3
(i) The sum qf powers of a and b in each term of (&f‘b)3 - Gg 7‘_ BCCZé £ 34527"4
expansion 1s 7.

(1) The first and last term being a” and 4" respectively. ( 74”‘/‘ 'me -a — /’6"'\7 erf
(iv) Thebinomial coefficients in the binomial expansion C/ o
equidistant from the beginning and the end are equal. er
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GREATEST BINOMIAL COEFFICIENTS
y 0k

In a binomial expansion, binomial coefficients of the middle / \@\/ , —
terms are greatest binomial coefficients. v@
(i) Ifmiseven: "C ,takes maximum value. [ /7, @ 1/ !
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@GENERAL TERM

Let(r + 1)th term be the general term in the expansion
of (x + a)".
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TERM FROM END f,ﬁ, o fm,)
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QUESTION (1#2)" = 1+ 027, 2

The approximate value of (1.0002)30 js 3 o
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QUESTION

The approximate value of (1.0002)3°% js

A. 1.6
B. 1.4
C. 1.8
D. 1.2
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QUESTION

10
The middle term ,of (2.1: — SL) 1S ANSWER : (b)
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QUESTION

What are the values of &, if the term independent of x
10
in the expansion of (\G + %) 1s 4057
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QUESTION

What are the values of £, if the term independent of x ANSWER : (a)

10
in the expansion of (\E + %) 1s 4057

X
(a) £3 (b) £6 (c) £5 (d) 4
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